HTAEEANBBEHRER—E

SHM7EIASHRE
AR
SWVEFTHEREZEERER
B % EBEALBERER B % BEAABEEHREHR EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
X=F LN 0 0 0 | K=FkK$+ 606 673 1,279
RFAERNEF 0 0 0 | K=FiEZI 3,039 3,144 6,183
RFTREF 0 0 0 | K=FHEF0 0 0 0
= HIET 1,456 1,431 2887 |[FHRE1TH 862 923 1,785
—#85TH 1,480 1514 2994 |[FHRKE2TH 590 607 1,197
=#6TH 4,038 4,097 8,135 |l KE3TH 1207|1247 2,454
XFEEB 7.378]  7,720| 15098 |BEX=E4ATH 866 893 1,759
AR E AT 1,111 1,211 2,322 | KRFREFEX 0 0 0
RFEEE 1,558| 1,610 3,168 | K=F K EREF 0 0 0
XFIEFE 225 282 507
AFiaREEt 173 176 349
RFHET 775 805 1,580
AFS 1,131 1,176 2,307
RFFAF 487 548 1,035
RKEFEHNFARB 2,297 2,291 4,588
REFFa#HH 259 269 528
RKFEHBRE 107 104 211
RF EHEARB 0 0 0
AN iz plicd ) 1,875| 2,021 3,896
KETRE 1,415| 1,488 2,903
KFZVE 837 899 1,736
RFEREAFH 372 360 732
KEFEEFEK 15 15 30
RFHERA A FH 5 6 11
SAET1TH 31 31 62
SAET2TH 45 37 82
ZEAR1TH 29 29 58
BEAE2TH 45 42 87
ZEARIITH 69 56 125
754 1,358| 1,505 2,863
KFER 484 492 976
K= &H] 217 225 442
AFHERAAR 1,031 1,098 2,129
REFFHFHK 911 934 1,845
KXFERE 446 446 892
A = 5 L8 H
A A
38,830 40,405 79,235




HTAEEANBBEHRER—E

SHM7E3A3ERE
X
SWVFTLEREZEERER
B % EBEALBERER BEAABEEHREHR EBEALBERER B % BEAABEEHREHR
) & it E % it E] & it E] % 5t
XERE 0 0 0
RFXBK 0 0 0
KEHET4TH 2,670 2,841 5511
HARET1TH 1,979 2,002 3,981
HARET2TH 2,371 2456 4,827
KEFRB 0 0 0
BEET1TH 4453| 3,950 8,403
BERT2TH 6,310| 6,848 13,158
BEH#RI3TH 2430|2532 4,962
#isIET2T H 2,133| 2218 4,351
REMNES 0 0 0
=FRE1TH 4295| 4,588 8,883
=FRE2TH 2,793| 2654 5,447
=FREIS3TH 2,980| 3,139 6,119
=FRET4TH 2,657| 2,701 5,358
SHEFET1T B 2,955 2,868 5,823
SHEFET2 T H 1,779| 1,687 3,466
Al Fr BT 2479|2594 5,073
= RHET 3967| 4,034 8,001
BRI T H 2,299| 2,351 4,650
B ET2T B 468 7217 1,195
AT 1,669| 1,855 3,524
N 0 0 0
+ BT 249 252 501
TEE1TH 2,626 2792 5418
TEE2TH 2410 2523 4933
5 HET 1,709| 1,727 3,436
REFFEARE 0 0 0
A SERET 4584 4,869 9,453
BE1TH 0 0 0
RiB1TH 0 0 0
RiB2TH 0 0 0
RiB3TH 0 0 0
A = 5 L8 &t
A A

62,265 64,208 126,473
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SWVFEFTAEREXEEEER
B % EBEALBERER B % BEAABEHREHR EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
XE6TH 182 191 373 | FHT1TH 188 190 378
XE7TH 180 219 399 | FHT2TH 192 152 344
IEET1TH 2.543] 2,662 5205 | FET3TH 963| 1,083 2,046
ILEET2TH 1,300| 1,283 2,583 |XRET1TH 667 687 1,354
EHET1TH 503 507 1,010 |EET2TH 723 764 1,487
HEET2TH 787 786 1,573 |#&KHET1TH 576 636 1,212
IHEE3TH 538 562 1,100 |#&KHET2T B 953 853 1,806
IHEET4TH 634 740 1,374 |# KBTS T H 517 504 1,021
ERMAT1THE 492 526 1,018 |4 ABI4ATH 2,665 2574 5,239
ERMET2TH 656 690 1,346 |$RAT 2 1 3
XBRI1TH 1,823| 1,868 3,691 | KAKET1TH 1,813] 1,783 3,596
XBEI2TH 2,047| 2,130 4,177 | KAKET2TH 1,443| 1,403 2,846
BEORE1TH 1,878| 2,008 3,886 | KFKET3TH 1,966) 1,994 3,960
BEORNE2T H 769 782 1,551 |#&i518T1 T H 2,787| 2,909 5,696
BEDRNESTH 880 930 1,810 |=#1TH 3,725 3,934 7,659
FHERT1ITH 649 723 1,372 |=#82TH 2613 2498 5,111
FHERT2TH 1,086 1,274 2,360 |=¥83TH 735 699 1,434
S281TH 804 894 1,698 |=4#84TH 2,199 2301 4,500
B282TH 563 583 1,146 | /AT 4221| 4232 8,453
BE283TH 283 304 587 | KEET1TH 0 0 0
BE284TH 2 4 6 | KEMHHET2T B 0 0 0
TFH1ITH 951 907 1,858 | KE{HEISTH 0 0 0
T+ FHE2TH 350 320 670
+FHE3TH 625 593 1,218
EET1TH 73 58 131
EET2TH 178 157 335
EEI3TH 373 348 721
EET4TH 507 382 889
EEI5TH 340 215 555
KFET1TH 7 11 18
XFET2T B 18 19 37
XFEISTH 630 636 1,266
HET1TH 31 18 49
hET2TH 58 43 101
HETSTH 291 254 545
A = 5 T &t
= R 51,979 52,824 104,803
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. SHM7EIASHRE
RiARX
SWVEFTRIAREZEEEER
B % EBEALBERER B % BEAABEEHREHR B % EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
KFINHAET1TH 3,663] 3753 7416 |[MMAE1TH 1 2 3 |EM2TH 948 934 1,882
KFINHAET2T H 3,250| 3,450 6,700 |AINAE2TH 1 0 1|&E@E3TH 1,197| 1,106 2,303
KD 6 0 6 | K= 6 LFFH 3 2 5 |AER1TH 98 99 197
BWE2TH 1 0 1 [ RFRI 0 1 1 |REFH2TH 194 205 399
Y 1153 BT 3,347| 3467 6,814 | KFRF 286 283 569
AFE 0 0 0| KFXAE 3,689| 3786 7,475
BT 2,073] 2238 4311 | KFEF 4321| 4453 8.774
EB1TH 206 214 420 | KFREE 1,456 1,650 3,106
EfT2TH 193 188 381 | K= R g 1,677 1,669 3,346
BAE1TH 1,328| 1,280 2608 | KFEET 1,299 1,495 2,794
BAXE2TH 1,188 1,237 2425 | RET1TH 73 77 150
HAXE3TH 898| 1,144 2042 | RET2TH 193 191 384
BAXE4TH 2,302 2,341 4643 |RET3TH 49 48 97
HAXE5TH 1,416 1,468 2,884 | KFFIE 1,140 1,239 2,379
HAE6TH 1,656 1,627 3283 | KFZEE 292 279 571
BAXE7TH 2,085 2,052 4137 |IRE1TH 638 641 1,279
KEFHH 727 741 1,468 |R{E2TH 463 453 916
A#1TH 159 170 329 [R{E3TH 666 625 1,291
A#i2TH 55 55 110 |RE4TH 0 0 0
AHIE 7 6 13 |IR{ES5TH 101 92 193
K=FEW 208 218 426 |EH1TH 1,452| 1,580 3,032
RKFEH 269 238 507 |EH2TH 301 370 671
281TH 95 92 187 |&EEH3TH 637 643 1,280
282TH 65 61 126 |BEEH4TH 697 733 1,430
2R3TH 279 295 574 | KF H 415 698 717 1,415
RFEIH 1,687] 1,820 3,507 |F4 I5HT 1,171] 1,101 2,272
RFEN 118 124 242 | KFEL R 55 59 114
RFHER 2,648 2766 5414 |E~+R/IE1TH 39 50 89
REFEHE 3,103| 3253 6,356 |E~&iE2TH 3 4 7
RFERmPH 3910| 4,153 8063 |~ AIE3TH 121 134 255
XFHIII 3315 3512 6827 |EyRIE4TH 30 30 60
REFLUOFA 304 330 634 | K= /NEE 2551 2615 5,166
ARFAEILFFHEA 20 18 38 |HNET1T B 0 0 0
KF#HA TP H 41 27 68 |EIET2T B 8 33 41
REMNMBEHFHA 1 2 3|E@M1TH 668 679 1,347
A = 5 T &t
= R 67,839 70,418 138,257
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HTAEEANBBEHRER—E

THM7E3A3ERAE

SWEFETHRREZFETERER

BEALBEREN

BEARBERER

BEEARBEREN

BEARBERER

BT 4 BT 4 BT 4
) & it E % it ) % it E % it
RFELES 0 0 0//\TFF4TH 247 260 507
LTEE1TH 1,217| 1,386 2,603 |/\EF¥5TH 722 772 1,494
L#EE2TH 1,438 1,610 3048 | FIE1TH 679 633 1,312
L% E3TH 895 940 1,835 | L2 TH 778 790 1,568
LEE4TH 372 379 751 | LIE3TH 611 597 1,208
L% E5TH 813 796 1,609 | FIE4TH 413 435 848
L% E&6TH 1,068 1,142 2,210 |MBE5R1 T B 29 27 56
F%&7TH 1,005| 1,156 2,161 |MM352T B 259 272 531
L% E8TH 666 742 1,408 |MRIFR3T B 110 131 241
L% E0TH 543 581 1,124 M4 T B 477 487 964
AXFTEE 1,570| 1,683 3,253 |MBER5T B 668 681 1,349
T%&2TH 785 841 1,626 |MHFFR6 T B 64 69 133
T%&3TH 762 870 1,632 |MFFR7 T B 228 209 437
TEE4TH 661 701 1,362 |#x 1T H 608 627 1,235
T%A&5TH 554 597 1,151 |#xF2TH 426 399 825
T%&6TH 792 843 1,635 |ABTFE1TH 602 632 1,234
TEE7TE 601 656 1,257 |ABTFE2T B 427 469 896
BHR1TH 72 84 156 |AETFEIT B 722 782 1,504
$HR2TH 554 587 1,141 |AETFE4AT B 578 608 1,186
$BAR3TH 566 571 1,137 |ABTFST B 584 609 1,193
$HR4TH 1,206| 1,254 2,460 |ABTFE6T B 147 150 297
$BA5TH 404 422 826 |RETH1TH 453 474 927
B 86TH 594 588 1,182 |AETEH2TH 500 475 975
$2BA87TH 1,142 1,233 2375 | ABTE3TH 487 482 969
$HR8TH 463 458 921 |ABTHATH 723 767 1,490
$HROTH 111 110 221 |ABTHESTH 643 712 1,355
XE1TH 948 926 1874 |ABTHE6TH 449 476 925
KFE2TH 394 393 787 |AET®E7TH 1,332] 1,303 2,635
KE3TH 516 522 1,038 |FHE1TH 804 809 1,613
KF4TH 700 763 1,463 |FhE2TH 548 578 1,126
KE5TH 913 971 1,884 |FhEITH 596 626 1,222
KFE6TH 558 592 1,150 |$hEATH 1,031] 1,062 2,093
ANEF1TH 90 91 181 [P ESTH 993| 1022 2,015
IANEF2TH 389 433 822 |HrERIL 112 134 246
IANEF3TH 821 807 1,628
A = ES 5
A A
42,233 44,287 86,520
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B % EBEALBERER B % BEAABEEHREHR B % EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
KEFdalE 0 0 0 |[FT81TH 437 411 848 | KFHFIFA 0 0 0
FEIE1TH 327 298 625 |BATA82TH 335 370 705 | X HF0REED 0 0 0
FE2TH 904 965 1,869 |HTA3TH 653 577 1,230
FIE3TH 835 860 1,695 |HTA4TH 353 301 654
FEIRATH 1,165 1232| 2397 |[KFERXE 0 0 0
FYESTH 495 492 987 |BE1TH 507 504 1,011
FE6 TH 912 883 1,795 |@LE2 T H 989| 1,022 2,011
FEE7TH 1,030 996 2026 | KFEHE 0 0 0
FEYESTH 719 739 1458 |HE1TH 919 953 1,872
FEYEOTH 626 628 1,254 |HE2TH 376 346 722
FEHE10T H 320 312 632 |[FE3TH 212 213 425
PN 0 0 0|HFE4TH 343 311 654
XFHEE 0 0 0 | K=FHH 0 0 0
HE1TH 688 690 1,378 |XF1TH 580 540 1,120
HE2TH 574 586 1,160 |&F12T H 816 792 1,608
HE3TH 1038| 1043 2,081 |%F3TH 713 688 1,401
HE4TH 962 936 1,898 |4 TH 495 457 952
HE5TH 565 539 1,104 |&F15TH 578 515 1,093
HE6TH 1,019] 1,136 2,155 |%F6T B 578 504 1,082
HE7TH 74 79 153 | KFIMAR 0 0 0
HESTH 218 172 390 [ILAR1TH 374 383 757
HEQOTH 252 219 471 [IWAR2TH 539 568 1,107
HE10TH 656 640 1,296 | KF EXAER 2,047] 1,952 3,999
KEF$Bd 0 0 0 | KFTXRAR 2,093| 1,670 3,763
HBE1TH 466 455 921 | KFXKARBER 2557 2745 5,302
#FBH2TH 200 197 397 | KF#H 2228| 2135 4,363
#FBSTH 10 10 20 | KFH# 2.977| 3,081 6,058
#$BH4TH 0 0 0 | KFHR 166 167 333
RFES 5 3 8 | KF®E 263 239 502
EZ1TH 294 271 565 | KXF F B 792 758 1,550
EiZ2TH 1,283] 1,240 2523 | KFIFAR 658 680 1,338
EiH3TH 404 374 778 | K= REH0 0 0 0
EiH4TH 0 0 0 [#MA1TH 349 361 710
EiH5TH 0 0 0 [#M2TH 528 516 1,044
KEFHETH 2 0 2 |##@M3TH 146 138 284
A = 5 L8 H
A A

40,644 39,892 80536
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B % EBEALBERER B % BEAABEEHREHR B % EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
EE1TH 667 698 1,365 |t~ A3 TH 701 805 1,506 |Rith2T B 555 577 1,132
EHE2TH 666 688 1,354 |#t7B84TH 912| 1,193 2,105 |Rii#h3 T H 775 792 1,567
EHEI3TH 471 499 970 | EXRIZ1TH 1.431] 1,654 3,085 |[AKX1TH 1,612| 1,827 3,439
EE4TH 945 1,065 2,010 | ERF2TH 998| 1,106 2,104 |[AKX2TH 1,196 1,272 2,468
EE5TH 626 642 1,268 | EKIZFIT B 552 578 1,130 |[AX3TH 1,064| 1,179 2,243
EHE6TH 789 822 1611 | ERIFATH 712 698 1,410 |[AX4TH 735 800 1,535
EE7TH 1112 1179 2,291 | L RF5TH 544 552 1,096 |[AXS5TH 963| 1030 1,993
BT 1,062| 1,130 2,192 | ERBE6TH 1099 1,125 2224 |STET1TH 1,094 1,173 2,267
=2M1TH 187 228 415 | ERIG7TH 488 551 1,039 |tHT2 T H 1,455| 1,661 3,116
=22TH 315 324 639 | EKRIZSTH 245 274 519 |StAT3TH 776 854 1,630
=2M3TH 534 553 1,087 |KIE1TH 538 544 1,082 | X®1TH 1,219] 1,300 2,519
=24TH 665 750 1,415 | KiG2TH 684 719 1,403 | XH2TH 753 818 1,571
HE R ET 766 836 1,602 | RIE3TH 284 280 564 | KE3TH 568 656 1,224
HET1TH 739 882 1,621 | Kix4TH 723 748 1,471 | KRFZIF 5 6 11
hET2TH 787 885 1,672 | RIG5TH 842 920 1,762 |#48A1 T B 539 565 1,104
HETSTH 760 828 1,588 |fBxX1TH 742 795 1,537 |#48A2 T B 711 739 1,450
HET4TH 763 817 1,580 |fB%2TH 501 522 1,023 |2 |LIfT 790 866 1,656
B ET 1,430| 1,568 2,998 |SEXR3TH 783 823 1,606 |;EFI{FET1TH 0 0 0
EE1TH 1,404 1473 2,877 |3ERATH 617 644 1,261 |;@f0{¢ET2T B 0 0 0
HiE2TH 938| 1041 1,979 |BxX5TH 475 510 985 |;RFN{HET3 T B 0 0 0
w3 TH 1,467 1,715 3,182 |EXR6TH 893 891 1,784 |;EFN{HETAT B 0 0 0
EHEATH 648 741 1,389 |BxX7TH 956 1,112 2,068
HHE5TH 839 959 1,798 |#E~ 51T H 664 744 1,408
HiE6TH 518 516 1,034 |#E~ 52T H 752 807 1,559
HE7TH 577 619 1,196 |#E~ 53T B 536 612 1,148
HHE8TH 447 509 956 |4~ 54T B 656 726 1,382
HHEOTH 1,403 1,486 2,889 |~ 55T H 786 806 1,592
BEH#10TH 1,356 1,457 2,813 |EI51TH 815 817 1,632
i#EF1TH 1,261 1,454 2,715 |E9352TH 132 104 236
deiEFn2 T B 1020| 1,108 2,128 | KE1TH 275 310 585
deiEF3T B 1,175] 1,393 2,568 | KE2TH 165 209 374
JLi#EF4TH 176 192 368 | KIE3TH 9 10 19
deiEFIST B 1,585| 1,704 3,289 | KRE4TH 5 0 5
#Hy#B/1TH 865 899 1,764 | KIR5TH 0 0 0
#Hy#82TH 1,189 1,178 2,367 |Biiith1 T H 1044 1,116 2,160
A = L2 Z it
= R 66,521 72,258 138,779
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B % EBEALBERER B % BEAABEEHREHR B % EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
ARIH1TH 1,105| 1,120 2,225 |BIFT4 T H 289 274 563 |AA5TH 1,081] 1,081 2,162
ARi52TH 783 778 1,561 |BIFRF5 T H 557 598 1,155 |AA6TH 1,033 910 1,943
EHAM1ITH 1,238] 1,291 2,529 |BIFF6 T H 747 727 1474 |AB7TH 773 752 1,525
B2 TH 1,597| 1,560 3,157 |BIFR7 T H 1414| 1512 2926 |TMA1TH 644 686 1,330
B3 TH 3,056 3211 6,267 |#RiF1TH 973| 1019 1,992 |A2TH 546 539 1,085
B4 TH 115 82 197 [#RF2TH 691 693 1,384 |TMA3THE 635 612 1,247
AFARE 3,749] 3926 7,675 |#RF3TH 980 970 1,950 |[FAAHET1TH 490 561 1,051
AHE2TH 870 928 1,798 R E4TH 570 540 1,110 |FgARI2TH 914 962 1,876
AHEA4TH 746 823 1,569 |#RE5TH 1,357 1,513 2,870 [#4HB81 T H 483 496 979
AHESTH 1,186 1,191 2377 i{B¥E1TH 3,265| 3474 6,739 |#8B52T B 208 196 404
XERAO 7,098 7.475| 14573 |;B%2TH 724 731 1,455
XFEAEF 1,105| 1,092 2,197 |;B%3TH 75 55 130
RFELBRE 970[ 1035 2,005 |B§1TH 230 219 449
BiE1TH 461 391 852 2T H 393 391 784
HiE2TH 483 454 937 [BEF®1TH 510 502 1,012
BiE3TH 1,235| 1,320 2,555 |BEFR2TH 482 501 983
B4 TH 1,802| 1,932 3,734 |EFR3TH 795 830 1,625
BiE5TH 1,104| 1,138 2242 |EFRATH 1086| 1069 2,155
Big&6TH 1,148 1,092 2,240 |EFR5TH 1,057] 1018 2,075
$1TE 1,155 1,149 2,304 |EFR6TH 944 928 1,872
$2TH 941 957 1,898 [EEFR7TH 1074| 1006 2,080
33TEH 746 800 1,546 | KF1E4H 0 0 0
$4TE 1,033 967 2,000 |[MAAR1TH 724 695 1,419
35TEH 706 730 1,436 [#AXR2TH 490 477 967
6TH 268 285 553 [¥AAR3TH 624 574 1,198
$7TE 794 770 1,564 |[#AXR4TH 535 500 1,035
38TH 1,069| 1,128 2,197 |HIAR1TH 744 725 1,469
XE1TH 967| 1020 1,987 |#iA2TH 747 708 1,455
XE2TH 1,333 1,341 2674 |BWA3TH 679 684 1,363
XE3TH 1,691 1,533 3224 |HWAATH 652 620 1,272
X4 TH 1,213 1,251 2464 |BWASTH 752 742 1,494
XE5TH 1,165 1,133 2,298 |[N&/1TH 270 267 537
BEE1TH 574 610 1,184 |AB2TH 449 418 867
BFF2TH 1,104| 1,189 2,293 |[NA3TH 776 718 1,494
BFE3TH 1,088 1,168 2,256 |[N&B4TH 870 787 1,657
= R 79,030 80,150 159,180




HTAEEANBBEHRER—E

SHM7EIASHRE
X
SWVFTRREZEERER
B % EBEALBERER B % BEAABEEHREHR EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
AHE1ITH 1,250| 1,307 2,557 | KFERB 13 10 23
AHEITH 726 757 1,483 [IIIE1TH 470 431 901
XERAO 81 81 162 |[KFE#% 0 0 0
FW1TH 1,406| 1514 2920 | KFHE 0 0 0
FIW2TH 1,428| 1,486 2914 | KFXKE 0 0 0
FIW3TH 708 790 1,498 |ERAFI1TH 126 130 256
FILW4TH 1,533] 1,701 3234 |HAF2TH 687 728 1,415
KFHE 5849| 6,373| 12,222 | KFI3TH 629 641 1,270
RFXBA 2,578] 2,709 5287 |EHB1TH 544 600 1,144
RFEXEK 972 1,058 2,030 |Ei52TH 650 643 1,293
XEFWLOFHEA 134 142 276 [¥AK1TH 542 603 1,145
RFERFH 0 0 0 [#AK2TH 483 503 986
RFE=ZF 6,874| 7289 14,163 |[}AK3TH 776 814 1,590
E#HFT1TH 467 546 1,013 |BEM1TH 519 577 1,096
E#H+T2TH 452 498 950 |BEI2TH 2,085 2027 4,112
E#HFT3TH 320 367 687 |BHEMISTH 1,147 1,212 2,359
E#HT4TH 821 860 1,681 |BEMI4TH 889 914 1,803
KFKIF 464 371 835 |H#HIST B 811 851 1,662
AFmatpeEit 281 293 574 |Ei#HET6T B 651 648 1,299
RFFEFHH 366 328 694 |BHEM7TH 1,089 1,201 2,290
XFE LA 327 239 566 |F;HEIST B 584 672 1,256
RFSHH 33 42 75 [HRIEFI9OTH 538 547 1,085
KERWL 233 206 439 |XE1TH 205 204 409
RFFI 108 102 210 |XE2TH 72 76 148
KF KM 4163| 4,173 8,336 |XE3TH 638 627 1,265
KXFIE 41 42 83 |XE4TH 1,748 1,798 3,546
KFHEET 341 352 693 |XESTH 741 758 1,499
XFTHH 532 546 1,078 |EE6TH 345 343 688
KFRZFEFH 95 77 172 | KEAKR2TH 439 439 878
EA1TH 394 378 772 | KEAA3TH 544 558 1,102
EA2TH 618 630 1,248
ZHR1TH 471 503 974
ZH2TH 398 418 816
ZHR3TH 753 803 1,556
KFZH 1 1 2
A = X &t
A A
53,183 55,537 108,720
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B % EBEALBERER B % BEAABEEHREHR B % EBEALBERER B % BEAABEEHREHR
) & it E % it ) % it E % it
RFEH 2,023| 2,008 4,031 |FHET1TH 404 426 821 |[RHET 458 427 885 | KFH ¥ 125 121 246
XFEAH 0 0 0 |FHAET2TH 657 711 1,353 | KFERIF 657 612 1,269 | KFEH#F 546 582 1,128
AH1TH 433 450 883 |FHATS T H 472 492 964 | KFER 651 636 1,287 | KFEA 462 455 917
AH2TH 443 439 882 |FHAT4A T H 615 629 1,247 | KFEAR 383 364 747 | FB1TH 302 323 625
AH3ITH 46 45 91 |FREI5T H 590 621 1,216 | KFEA R E 189 169 358 | FE2TH 248 276 524
AMN1TH 557 576 1,133 |BSHT 428 460 911 | KFE T #HH 505 490 995 |FWEA1TH 249 257 506
AMN2TH 304 335 639 | B HET 692 685 1,402 | KFHE 122 109 231 |#REF2TH 120 151 271
AMN3TH 477 518 995 |SESEfT 589 612 1,206 | KFES I 307 309 616 |#REA3TH 604 827 1,431
AMN4TH 341 373 714 |=EET1TH 353 434 804 | KFE/IEHEA 14 19 33 |REH4TH 258 354 612
WET1TH 371 384 755 |EHT2TH 1,028 978 2,020 | K=F#.E 247 227 474 |5BEAS5TH 171 184 355
WET2TH 326 325 651 | KFEFF 27 28 57 | KF# EFE 677 671 1,348 |HEMI1TH 231 247 478
FHAR1TH 210 182 392 |BEFH1TH 332 320 643 | XFFHE 126 99 225 |HEW2TH 123 133 256
FAR2TH 410 434 844 ¥ FH2TH 358 415 765 | KF S =R 220 183 403 |HEWITH 244 242 486
FHA3TH 4 4 8 | FH3ITH 434 424 869 | KFXH 656 603 1,259 |HEMATH 527 503 1,030
HR4TH 163 162 325 B TFH4TH 341 296 645 | KF#ERE 486 451 937 |HEMWSTH 357 324 681
WE1TH 434 436 870 |BEFFH5TH 119 104 223 | KFINE 1,243| 1,239 2482 |HAH6TH 241 258 499
WE2TH 261 256 517 | KFE®E 284 250 537 | KFHEH 817 831 1648 |EEE1TH 944 930 1,874
WEE3TH 207 205 412 | KFKHE 151 122 275 | KFRERF 864 842 1,706 |E£EFE2TH 739 759 1,498
WE4TH 434 352 786 | KFiEE 160 193 353 | K=t 282 298 580 |XEHITH 397 392 789
WE5TH 599 579 1,178 | XFXO 155 158 313 | KF L% 294 302 596
HKR1TH 643 662 1,305 | KFEXA 123 120 238 | EH1TH 405 422 827
HKR2TH 549 560 1,109 | KFXF 238 221 456 | L%2TH 201 168 369
izl 5 619 648 1,267 | KRFFHAEE 93 80 176 | L83 TH 78 58 136
FHEAE1TH 439 412 851 | KFK#H& 39 41 81 | LE4TH 8 12 20
FEAE2TH 341 366 707 | KFEME 42 52 9 | LE5TH 0 0 0
AR1TH 359 368 727 |[ME1TH 612 580 1,213 |6 TH 197 195 392
AHR2TH 398 423 821 |[MME2TH 278 319 608 | KFH4 15 210 246 456
ABSTH 345 379 724 |/iE3TH 30 23 57 |547351TH 11 5 16
AHR4TH 405 453 858 |INE4TH 627 591 1,216 |B~ 52T H 17 9 26
AB5TH 307 301 608 |MINESTH 502 472 975 | KFHEHR 49 57 106
ABT6TH 296 356 652 | KFHER 205 189 395 | KFZE#EEF 702 713 1,415
HET1TH 643 632 1,275 | KFEEF 142 160 299 | KFBE=E 485 441 926
hET2TH 549 554 1,103 | KF A% 345 327 671 | K= 344 319 663
HET1TH 516 480 996 | KFEAR 546 535 1,089 | KF£E 511 488 999
HET2TH 383 368 751 [ KFEATF 64 52 116 | KFARE 750 788 1,538
- ] ES B
= R 46,964 47,265 94,229




